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End of Chapter Questions

"Economics for Business" by David Begg und Damian Ward. 
Chapter 1

1. Explain the concept of opportunity cost.
2. List goods, or services, that compete for your income. Similarly, list activities that compete for your time. In deciding what you will spend your income on and how you will allocate your time, do you minimize your opportunity costs?

3. Consider whether it is ever possible to solve the problem of scarcity.

4. An economy produces two goods, Ferraris and Ray-Ban sunglasses. Using a production possibility frontier assess what must happen to the production of Ferraris, if the production of Ray-Ban sunglasses decreases.

5. The same Ferrari and Ray-Ban economy receives an influx of migrant workers. What do you think will happen to the production possibility frontier for this economy?
6. How does the production possibility frontier illustrate the concept of opportunity cost?

7. Why does the law of diminishing returns require the production possibility frontier to be curved, rather than a straight line?
8. Explain the resource allocation mechanism within a market economy and also a planned economy.
9. Using examples, highlight why your own economy is probably best described as a mixed economy.
10. Which of the following statements relate to macro or microeconomics? (a) During the last 12 months average car prices have fallen; (b) inflation for the past 12 months has been 3.5 per cent; (c) strong sales in the housing market have prevented the Bank of England from reducing interest rates.

11. Is the labour market a micro or macroeconomic topic?
12. Why does business need to understand the functioning of markets?

13. Why does business need to understand the functioning of the economy?
Questions 14 and 15 relate to material within the appendix

14. Which of the following is positive and which is normative? (a) It is in the long-term interest of the UK to be a member of the Euro; (b) Will entry into the Euro reduce UK inflation?

15. Using the data listed below, plot house prices on the Y axis and time on the X axis. Is there a positive or negative relationship between time and house prices? Convert the data series on house prices into an index using 2005 as the base year.

Calculate the percentage increase in house prices for each year.

	Year
	Average price of a house

	2005
	£100 000

	2006
	£120 000

	2007
	£155 000

	2008
	£190000

	2009
	£170 000

	2010
	£150 000


Exercises

1. True or False?

a)
Economics is about human behaviour and so cannot be a science.

b)
An expansion of the economy’s productive capacity would be reflected in an outward movement of the production possibility frontier.

c)
China is an example of a command economy in which private markets play no part.

d)
When you make a choice there will always be an opportunity cost.

e)
Firms should operate in the interests of their wider stakeholders is an example of a normative economic statement.

f)
Economists assume that business operates in a purely economic environment
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a)
Which combination of goods can be produced, with surplus resources being unemployed?

b)
Which combination of goods would represent full employment, with resources mainly allocated to the production of houses?

c)
Which combination of goods cannot currently be achieved?

d)
Which combination of goods represents full employment, with resources mainly allocated to the production of cars?

e)
How might the level of output identified in c) be achieved in the future?

f) Can you envisage circumstances under which the production possibility frontier could move to the left?
Chapter 2

Questions

1. Draw a demand line which illustrates the effect of a price reduction on consumers’ willingness to demand.

2. Identify the main factors which can lead to a shift in demand.
3. If a consumer’s willingness to demand a product is sensitive to a change in the price, then their elasticity of demand is elastic, or inelastic?
4. The price of pasta at the supermarket falls. What do you think will happen to the demand for rice?
5. Explain the difference between an inferior and a normal good?
6. How would you expect your consumption of normal and inferior goods to change over your lifetime?
7. Provide examples of your own consumption activities where your consumer surplus is high and also where it is small.
8. A successful advertising campaign has a slogan which is adopted by teenagers across your economy. Illustrate what will happen to the demand line for the product being advertised.
9. How does consumer surplus vary with elasticity? How might firms use this to their advantage?
10. Products that have low price elasticity have low prices and high volumes. Products that have high elasticity have smaller volumes and higher profit margins. Do you consider this statement to be true?

11. Asses how easy it is for firms to measure the elasticity of demand for a given good or service.

12. List five products that you think are price elastic. List five products that you think are price inelastic.

13. Is consumer surplus greater under elastic or inelastic demand?

14. How would you advise a company to go about changing the elasticity of demand for one of its products?

15. Using ideas relating to income elasticity, how would you build a portfolio or collection of products that would perform well when the economy was growing during a boom and contracting during a recession?

Exercises

1. True or False?

a)
An increase in income will cause an increase in demand for all goods.

b)
Two goods are complements if an increase in the price of X results in an increase in demand for Y.

c)
Price elasticity measures the responsiveness of the quantity demand to the change in the price.

d)
The price elasticity is constant along the length of a demand line.

e)
If a car costs £15 000 and a consumer is willing to pay up to £18 000, then the consumer surplus is £3000.

f)
If a product is price inelastic, revenues will rise following an increase in the price.
2. a)
Plot the following demand curve and associated total revenue curve.

	Price £
	10
	8
	6
	4
	2

	Demand
	1
	2
	3
	4
	5

	Total Revenue
	
	
	
	
	

	Elasticity
	
	
	
	
	


Calculate the elasticity at each price.  
What is the change in total revenue if the firm moves from a price of £8 to £4?  
Which price maximizes total revenue? 
What is the elasticity when revenue is maximized?  
b)
As a result of rising income demand increases at all prices by 5 units. Explain whether this good is normal or inferior.
Is the new demand line more or less elastic than the original? Why do you think this should be the case?
3. You have been hired by Louis Vuitton to advise them on their pricing strategy. Your brief is to cover each of the following:

a)
The benefit of raising their existing prices.
b)
The potential of broadening the brand’s appeal through a gradual reduction in prices.
c)  The potential benefits of launching a new brand called ‘Louis’. Who should this product be sold to and at what price level?

Chapter 3

Exercises

1. Explain the difference between the short and the long run. 
2. Is it sensible to consider capital, rather than labour as a fixed factor of production?
3. How does the law of diminishing returns explain the short-run productivity of a firm?
4. What is the difference between total fixed costs, total variable costs and total costs?
5. In the short run why do average total costs initially fall and then increase?

6. Explain why average fixed costs are always declining? What commercial strategies can be supported by falling average fixed costs?
7. What are marginal product and marginal costs?
8. Marginal costs must go through the minimum point of which other cost curves? Average total costs, average variable costs, or average fixed costs?

9. When should a firm shut down? Is it when prices go below average total costs, or average variable costs? Explain.
10. It is reported in the news that two firms have agreed to merge in the belief that they can generate cost savings. Which economic idea would support this belief?
11. Explain why airlines suspend some of their routes during the winter.
12. What are economies of scale and what are considered to be the main source of economies of scale?

13. From a cost perspective, why do you think ice cream is on special offer in November, but not in July?

14. Is it ever sensible to operate at prices below average variable costs?

15. Do economies of scale offer a competitive advantage?

Exercises

1. True or false?

a) 
Specialization can lead to economies of scale.

b) 
Holding labour constant while increasing capital will lead to diminishing returns.

c) 
The long-run cost curve meets the bottom of each short-run cost curve.

d) 
Pursuit of minimum efficient scale can be a reason for merger.

e) 
A rising marginal cost is a result of diminishing returns.

f)   Investing in brands represents a fixed cost.

2. A firm faces fixed costs of £45 and short-run variable costs SAVC as shown in Table 3.4

Table 3.4 Short-run costs of production

	Output
	SAVC
	SAFC
	SATC
	STC
	SMC
	

	1 
	17 
	
	
	
	
	

	2 
	15 
	
	
	
	
	

	3 
	14 
	
	
	
	
	

	4 
	15 
	
	
	
	
	

	5 
	19 
	
	
	
	
	

	6 
	29 
	
	
	
	
	


a) 
Fill in the remainder of the table, where SAFC is the short-run average fixed cost. SATC is the short-run average total cost. STC is the short-run total cost; and SMC is the short-run marginal cost.  

b) 
Plot SAVC, SAFC, SATC and SMC, checking that SMC goes through the minimum points of SAVC and SATC.
c) 
The firm finds that it is always receiving orders for six units per week. Advise the firm on how 
 Now consider Table 3.5

Table 3.5 Short and long run decisions

	
	Short-run decision
	Long-run decision

	Price 
	Produce at a profit 
	Produce at a loss 
	Close down 
	Produce at a profit 
	Produce at a loss 
	Close down 

	18.00 
	
	
	
	
	
	

	5.00 
	
	
	
	
	
	

	7.00 
	
	
	
	
	
	

	13.00 
	
	
	
	
	
	

	11.50 
	
	
	
	
	
	


Cost conditions are such that LAC is £12; SATC is £17 (made up of SAVC £11 and SAFC £6). In Table 3.5 tick the appropriate short- and long-run decisions at each price.

3. Referring to Box 3.5 consider the following questions:

a) 
What type of costs do aircraft represent to airlines?   Fixed costs.
b) Explain and evaluate the different strategies used by airlines to deal with the cost of running A380’s.  

Chapter 4

Questions

1. At a price of £10, consumers are willing to demand 20,000 units and firms are willing to supply 20,000 units. Is this market in equilibrium?
2. Following an economic crisis, a number of banks collapse. What do you think happens to the supply of banking services and the price of banking services in general?
3. If income levels fall in an economy, what do you think will happen to price of inferior goods and services?
4. As incomes in China rise, the global price of chicken and pork increases, why?
5. An expansion of the world’s shipping fleet threatens to depress the daily charter rates for ocean going freighters. What must happen to demand in order to keep charter rates relatively constant?

6. Draw a diagram to illustrate a market surplus and a market shortage.

7. If there is a surplus amount of rental office space in a city, what do you expect to happen to rents? Use a diagram to explain your answer.
8. The elasticity of demand for electricity is relatively price inelastic. Will a change in supply have a large, or small impact on the equilibrium price and quantity?
9. What is the difference between a pooling and separating equilibrium?
10. List three markets where pooling equilibriums are a problem.
11. Why is the market for new staff characterized by the problem of adverse selection?
12. Celebrity status brings riches, but will the increase in the number of boy bands, docusoaps and reality TV programmes, such as Big Brother, change the market price of celebrities?

13. If incomes were falling in an economy would you wish to invest in a house-building company?

14. Is studying for a degree a strategy for creating a separating equilibrium in the labour market?

15. Healthcare in the UK is free. Draw a diagram illustrating how waiting lists for hospital treatment in the UK reflect a market shortage at zero price.

Exercises

1. True or false? 

a)
An increase in demand for coffee will lead to a higher price at Starbucks. 

b)
The merger of two firms can lead to higher prices. 

c)
The equilibrium price is always optimal for a firm. 

d)
Demand and supply are said to move separately under a separating equilibrium. 

e)
The adoption of clam phones by celebrities will raise the equilibrium price of clam firms.

f)
Price above the equilibrium will create a shortage.

2. Suppose that the data in Table 4.1 represent the market demand and supply for baked beans over a range of prices. 

Table 4.1 Demand and supply
	Price 
	Quantity Demanded (million tins per year) 
	Quantity Supplied (million tins per year) 

	8 
	70 
	10 

	16 
	60 
	30 

	24 
	50 
	50 

	32 
	40 
	70 

	40 
	30 
	90 


a) Plot on a single diagram the demand and supply curve, remembering to label the axis appropriately. 
b)
What would be the excess demand or supply if the price were set at 8p? 

c)
What would be the excess demand or supply if the price were 32p? 

d)
Find the equilibrium price and quantity. 
e)  Suppose that, following an increase in consumers’ incomes, demand for baked beans rises by 15 million tins per year at all prices. Find the new equilibrium price and quantity. 
3. Consider box 4.3 

a)
Explain the difference between a market surplus and a market shortage.
b)
Draw a demand and supply diagram which illustrates a surplus for Madonna’s live performances. 
c) Is the practice of minimizing the supply of concerts by leading artists, one of risk minimization, or sales maximization?
Chapter 5

Questions

1. If a firm is a profit maximizer then marginal cost and marginal revenue must be … ………..? (Fill in the blank)

2. A firm discovers that its marginal cost is less than its marginal revenue. Should it increase or decrease output?

3. Describe the key assumptions which characterise a perfectly competitive market?
4. In the short-run, a firm in perfect competition finds that average revenues exceed average costs. Is this firm making a normal profit, a supernormal profit, a normal loss, or a supernormal loss?

5. Taking the same scenario in question 4, what do you think will happen to supply in the long-run?

6. How would you establish a benchmark for normal profits in your own economy?
7. What barriers to entry are associated with monopolies?
8. Is equilibrium in monopoly associated with allocative efficiency?
9. List markets that you think are (i) perfectly competitive and (ii) monopolies.

10. Does the concept of creative destruction paint monopolies as good or bad for an economy?
11. Explain the difference between accounting profits and economic profits.
12. Draw a diagram for a perfectly competitive industry with firms earning normal profits. All firms in the industry use oil as a key input. Using your diagram illustrate a reduction in the price of oil. Will the firm’s level profits increase or decrease and will market supply increase or decrease?

13. Identify the key differences between a perfect competition and monopoly.
14. Assess whether Porter’s five forces model of competition has greater value to business managers than the models of perfect competition and monopoly.
15. Would the lack of competition in monopoly result in the company making losses?

Exercises

1. True or false? 

a) 
Price is equal to marginal revenue for a firm under perfect competition. 

b) 
A firm making normal profits is said to be breaking even by an accountant. 

c) 
A monopoly makes supernormal profits because it is more efficient than a perfectly competitive firm. 

d) 
A perfectly competitive firm will sell at a price equal to marginal cost. A monopoly may sell at a price above marginal cost. 

e) 
A patent protects a monopoly by not enabling perfect information. 

f) In perfect competition, if price is above short-run average cost, firms will exit the market.

2. Figure 5.20 shows the short-run cost curves for a perfectly competitive firm. 
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Figure 5.20 Short-run cost curves for a perfectly competitive firm

a) 
What is the shutdown price for the firm?   
b) 
At what price would the firm just make normal profits? 
c) 
What area would represent total fixed cost at this price? 
d) 
Within what range of prices would the firm choose to operate at a loss in the short run?   

e) 
Identify the firm’s short-run supply curve..
f) 
Within what range of prices would the firm be able to make short-run supernormal profits? 
A perfectly competitive industry is taken over by a monopolist who intends to run it as a multi-plant concern. Consequently, the long-run supply curve of the competitive industry (LRSS) becomes the monopolist’s long-run marginal cost curve (LMCm); in the short run the SRSS curve becomes the monopolist’s SMCm. The position is shown in Figure 5.21.
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Figure 5.21 The monopolization of a perfectly competitive industry

a) What was the equilibrium price and industry output under perfect competition?
b) At what price and output would the monopolist choose to operate in the short run? 

c) At what price and output would the monopolist maximize profits in the long run? 
d) What would be the size of these long-run profits?  

3 a) List the key characteristics of a perfectly competitive market.
   b) Which of the characteristics do not apply to Google and why?
c) Do you think Google has undertaken any rent-seeking behaviour?
d) Do you think Google will suffer creative destruction?
Chapter 6

Questions

1. How do the assumptions of perfect competition and monopolistic competition differ?
2. List five industries which are likely examples of monopolistic competition?

3. How do the equilibrium conditions differ between perfect competition and monopolistic competition?
4. What are the main types of entry barriers which are likely to be associated with oligopoly?

5. Under a kinked demand line, is demand more or less elastic above and below the equilibrium price?
6. When is collusion likely to fail?

7. What is a Nash equilibrium?

8. In the single period prisoner’s dilemma both prisoners confess. Is this optimal?
9. How might two strategically interdependent players be encouraged to co-operate with each other?
10. Is possible and sensible to gain a first-mover advantage?
11. Monopolistic competition is sometimes criticised for displaying excess capacity. Explain why excess capacity exists in equilibrium and evaluate whether excess capacity is bad for society?
12. Do you consider it fair that whistle blowers, who are the first to admit to being in a cartel, are immune from prosecution?

13. Assume your company is operating in a cartel, agreeing to raise prices and reduce output. If the cartel is ongoing then the game is effectively repeated. Under what circumstances would your company cheat?

14. Electrical retailers promise to match each other’s prices: is this co-operation or competition?

15. A firm is considering whether it should be first to invest in a new market.  Provide the company with your best economic advice.

Exercises

1. True or false? 

a) 
A key aspect of an oligopolistic market is that firms cannot operate independently of each other. 

b) 
Cartels may be workable if members enter into binding pre-commitments. 

c) 
Under a kinked demand curve, demand is assumed to be price inelastic under a rise in prices. 

d) 
In a one-period game the strategy of tit for tat is optimal. 

e) 
In a repeated game with no known end, it is always optimal to cheat. 

f) 
With private values an English auction format will raise the highest revenue for an item.

2. Suppose that there are two firms (X and Y) operating in a market, each of which can choose to produce either ‘high’ or ‘low’ output. Table 6.1 summarizes the range of possible outcomes of the firms’ decisions in a single time period. Imagine that you are taking the decisions for firm X. 
a) 
If firm Y produces ‘low’, what level of output would maximize your profit in this time period?   b) 
If you (X) produce ‘high’, what level of output would maximize profits for firm Y?
c) 
If firm Y produces ‘high’, what level of output would maximize your profit in this time period?    
d) 
Under what circumstances would you decide to produce ‘low’?
e) 
Suppose you enter into an agreement with firm Y that you both will produce ‘low’: what measures could you adopt to ensure that Y keeps to the agreement?
f) 
What measures could you adopt to convince Y that you will keep to the agreement?
g) 
Suppose that the profit combinations are the same as in Table 6.1 except that if both firms produce ‘high’ each firm makes a loss of 8. Does this affect the analysis?
Table 6.1 Firms’ decisions

	
	
	FIRM Y

	
	
	Low Output Profits
	High Output Profits

	FIRM X
	
	X
	Y
	X
	Y

	
	Low Output Profits
	15
	15
	2
	20

	
	High Output Profits
	20
	2
	8
	8


3. Consider the case of Sony in Box 6.5. 
Chapter 7

Questions

1. Is a merger between rivals horizontal, vertical or conglomerate growth?
2. Horizontal growth can occur for cost and revenue reasons. Explain both of these justifications for horizontal growth?
3. Formula 1 teams are banned from in season tests to reduce costs. The learning curve says this is a bad idea, why?

4. What is the value chain?
5.What are transaction costs and should firms be concerned about them?

6. Your university decides to use an external catering company for the main university food outlets. What economic justifications can you provide for this decision?
7. What is the hold-up problem and how might a firm deal with this particular type of issue?

8. Explain why a range of activities can reduce risk. In order for diversification to be effective, has the correlation between activities to be high or low?

9. Why are the benefits of diversification low for shareholders?
10. What is an economy of scope and how might an economy of scope lead a firm to diversify?

11. If cost advantages from cumulative production were low, would the learning curve be steep or shallow?

12. Why are horizontal mergers sometimes blocked by governments?
13. Should governments also block vertical mergers?

14. Pubs in the UK are being encouraged to take on other activities, such as those of the post office. On economic grounds, how would you justify such initiatives?

15. How can a firm use horizontal, vertical or diversified growth to gain a strategic advantage over its rivals?

Exercises

1. True or false? 

a) 
Following a merger the price elasticity of demand should fall. 

b) 
Economies of scale can be a rationale for merger. 

c) 
Late delivery of supplies due to heavy traffic is an example of the hold-up problem. 

d) 
An organization’s total costs are production costs plus transaction costs. 

e) 
Diversification reduces a firm’s level of risk.

f)     Free cash flow is cash in excess of funds required to invest in all projects with a positive net present value.

2. a) Draw a long-run average cost curve and use it to explain the gains in scale achieved by 
two small firms merging. 
b) Diversification is not about moving the firm’s total cost and total revenue lines further apart, it is more concerned with reducing the volatility of earnings. Discuss.
3. Consider the following questions by referring to Box 7.3. 

a) Explain what is meant by the term vertical integration. 
b) How would business economists explain the location of server farms?
Chapter 8

Questions

1. Is profit maximization a reasonable assumption of firm behaviour?
2. Why might managers prefer to maximize sales or firm size?
3. A firm with managers and shareholders has separation of ownership from control. Why is this a potential problem for shareholders?

4. List examples where managers have been found to indulge in the consumption of perquisites.

5. What is a principal and what is an agent? Provide examples.

6. Why might performance contracts better align the interests of principles and agents? Again provide examples.
7. Consider whether it is always possible to use performance contracts to discipline agents?

8. How do the marginal social cost and the marginal social benefit differ from marginal cost and marginal benefit?
9. List four negative externalities and four positive externalities.

10. How might taxes and subsidies be used to combat externalities?
11. If the marginal social cost of production exceeds the marginal private cost, then the price of production to firms is too low. Is this true and what is the solution?

13. Draw a diagram of MSB and MPB of train travel in rural and semi-rural areas. Illustrate how a subsidy might improve usage of train travel

14. Asses the benefits of paying managers with capital, rather than with income.
15. Assess the likely factors which will limit the ability of carbon trading to reduce global emissions of carbon dioxide.
Exercises

1. True or false?

a)
Worker absence is highest on Mondays. This is an example of agency costs.

b)
Risk-averse workers need to be compensated with higher rates of contingent pay.

c)
Managers are said to suffer from shareholders’ free riding on their hard work.

d)
The marginal social benefit of education is likely to exceed the marginal private benefit.

e)
A negative externality can occur when the marginal private cost is less than the marginal social cost.

f) Subsidizing the marginal private cost of polluters will help to reduce the amount of pollution.

2. Figure 8.7 shows the market for a good in which there is a negative production externality such that marginal social cost (MSC) is above marginal private cost (MPC). MSB represents the marginal social benefit derived from consumption of the good.
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Figure 8.7 Market for a good in which there is a negative production externality

a)
If this market is unregulated, what quantity of this good will be produced? 
b)
What is the socially efficient quantity? 
c)
What is the amount of the deadweight loss to society if the free market quantity is produced?  
d)
What level of tax on the good would ensure that the socially efficient quantity is produced? 
e)
Suggest an example of a situation in which this analysis might be relevant.

3. When considering these questions refer to Box 8.4 

a)
Assuming a higher demand for coal increases demand for permits, draw a demand and supply diagram which illustrates the increase in price of permits.
b)
Draw a demand-and-supply diagram which illustrates the argument that the higher price of permits reflects a shortage of supply.
c)
Evaluate how effective carbon trading will be in reducing carbon emissions.
Chapter 9
Questions

1. What are the key macroeconomic variables for an economy? How have these variables changed in your economy over the last 5 years?
2. What key macroeconomic variables can a government or central bank control? How have these changed for your economy during the last 5 years?
3. Draw a circular flow of income for an economy that has a government sector and is open to international trade.
4. Identify the leakages, injections and components of aggregate expenditure in your circular flow diagram.
 5. Explain why there is a negative relationship between inflation and aggregate demand.
6. Consumer and business confidence are increasing. Illustrate the likely consequence of these changes on aggregate demand.
7. Explain why in the long-run aggregate supply is perfectly inelastic, but in the short-run is elastic.
8. Would an increase in aggregate demand generate an inflationary boom or a deflationary boom? Would a reduction in aggregate supply generate an inflationary recession, or a deflationary boom?
9. Explain what is meant by the term “a lead-indicator.”
10. How does an understanding of income elasticity enable a firm to manage the consequences of the business cycle?
11. In the long-run can GDP grow through an increase in aggregate demand, aggregate supply, or both?
12. In an economy, if aggregate demand increases while aggregate supply stays constant, what happens to GDP and inflation?

13. An economy benefits from an influx of additional workers. Using the circular flow of income, assess how these additional workers will impact upon the output of the economy. How will the extra workers influence aggregate supply?

14. Identify the key business variables a company could monitor in order to understand whether the economy is heading towards a boom or a recession.
15. The economy has been growing for 12 months and sales are increasing, but margins, the difference between revenues and costs, are beginning to fall. Is now a good time to invest in additional production capacity?

Exercises

1. True or false?

a)
Savings provide an injection into the circular flow of income.

b)
Total expenditure in an economy is equal to consumption, investment, government spending and exports.

c)
Under complete wage adjustment aggregate supply is unresponsive to a change in inflation.

d)
Higher inflation will lead central banks to increase interest rates. This explains a negative relationship between inflation and aggregate demand 
e) The main injections into the circular flow of income are investment and government spending.

f) Diversifying macroeconomic risk through normal and inferior products is beneficial for shareholders.

2. Table 9.2 presents consumer price indices (CPIs) for the UK, USA and Spain.

a)
Calculate the annual inflation rate for each of the countries.  
b)
Plot your three inflation series on a diagram against time.
 c)
By what percentage did prices increase in each country over the whole period – i.e. between 1999 and 2009?
d)
Which economy has experienced most stability of the inflation rate?
e)
Which economy saw the greatest deceleration in the rate of inflation between 2001 and 2004?  
Table 9.2 Consumer prices 

	
	United Kingdom
	USA
	
	Spain
	

	
	Consumer
	Inflation
	Consumer
	Inflation
	Consumer
	Inflation

	
	price index
	rate (%)
	price index
	rate (%)
	price index
	rate (%)

	2003
	71.7
	
	77.6
	
	68.2
	

	2004
	77.3
	
	81.4
	
	72.9
	

	2005
	84.6
	
	85.7
	
	77.7
	

	2006
	89.6
	
	89.4
	
	82.4
	

	2007
	92.9
	
	92.1
	
	87.2
	

	2008
	94.4
	
	94.8
	
	91.2
	

	2009
	96.7
	
	97.3
	
	95.5
	

	2010
	100.0
	
	100.0
	
	100.0
	

	2011
	102.4
	
	102.9
	
	103.6
	

	2012
	105.7
	
	105.3
	
	105.6
	

	2013
	109.3
	
	107.0
	
	107.5
	


Table 9.3 presents some data relating to national output (real GDP) of the same three economies over a similar period, expressed as index numbers.

f)
Calculate the annual growth rate for each of the countries.  
g)
Plot your three growth series on a diagram against time.
h) By what percentage did output increase in each country over the whole period?

i) To what extent did growth follow a similar pattern over time in these three countries?
Table 9.3 National production

	
	United Kingdom
	USA
	
	Spain
	

	
	GDP index
	Growth
	GDP index
	Growth
	GDP index
	Growth

	
	
	rate (%)
	
	rate (%)
	
	rate (%)

	2003
	91.4
	
	86.7
	
	86.0
	

	2004
	93.4
	
	89.7
	
	90.2
	

	2005
	93.7
	
	90.8
	
	93.6
	

	2006
	91.9
	
	89.9
	
	95.7
	

	2007
	91.4
	
	92.3
	
	96.3
	

	2008
	93.3
	
	94.5
	
	95.2
	

	2009
	97.3
	
	97.8
	
	97.4
	

	2010
	100.0
	
	100.0
	
	100.0
	

	2011
	102.6
	
	103.4
	
	102.4
	

	2012
	106.2
	
	107.5
	
	106.0
	

	2013
	108.5
	
	111.7
	
	110.1
	


3. Refer to Box 9.1 when considering the following questions.

a)
Identify the reasons behind the collapse of the service and manufacturing sectors. 
b)
Which technical terms would economists use to describe the increase in saving and reduction in consumption?

c)
Use an aggregate demand and supply diagram to illustrate the change in GDP.
 d) On the same diagram used for c) show how an increase in government spending will help to boost economic growth.
Chapter 10
Questions

1. Why is growth in GDP important?
2. Evaluate whether higher GDP per capita is always desirable.
3. Identify and explain the three main methods for measuring GDP.
4. What is inflation and how is it measured in your economy?
5. Explain why governments and central banks avoid high inflation and deflation.

6. What are the three main drivers of inflation?
7. As China continues to grow, then demand for raw materials, food, shipping and energy will all increase. Will China’s growth generate cost-push or demand-pull inflation in your economy?

8. Assess the key trends within unemployment data for your economy over the last 5 years. Use the economic unemployment categories to identify the patterns within your unemployment data.
9. During the credit crisis and global recession many bankers lost their jobs. Is this demand deficit, or structural unemployment?
10. Explain the relationship suggested by the Phillips curve. How might governments exploit this relationship?
11. If workers automatically adjusted their wage demands to keep their real wages constant, would the Phillips curve relationship still hold?

12. In Table 10.1 Liechtenstein has the highest GDP per capita in the world. Is Liechtenstein a good place to start a business?

13. The inflation forecast for next year is 3 per cent. Workers are asking for a 5 per cent pay rise. Should the firm agree to the 5 per cent rise?

14. Unemployment represents a pool of underutilized resource. Should firms relocate to areas of high unemployment?

15. Should a firm be concerned about an economy with a chronic balance of payments problem?

Exercises

1. True or false?

a)
GDP per capita is a measure of economic prosperity.

b)
High growth rates in GDP per capita can be accompanied by high inflation.

c)
Nominal wages are adjusted for inflation, real wages are not.

d)
A mismatch of skills generally results from cyclical unemployment.

e)
The Phillips curve suggests negative relationship between inflation and GDP 

f) A trade deficit is acceptable in the short run, but is troublesome in the long run.

2. Plot the data in Table 10.3 placing inflation on the Y axis and unemployment on the X axis.

Table 10.3

	
	Inflation Rate
	Unemployment Rate

	1997
	2
	8.8

	1998
	2.6
	7.8

	1999
	2.5
	7.1

	2000
	1.8
	5.3

	2001
	1.6
	4.5

	2002
	1.3
	4.2

	2003
	0.8
	3.7

	2004
	1.2
	3.3

	2005
	1.3
	3.2

	2006
	1.4
	3.2

	2007
	1.3
	2.9


a) Is there evidence in support of a Phillips curve relationship?

b) What is the long-run Phillips curve?
c) At what level of unemployment would you propose drawing the long-run Phillips curve?

3. Consider the data and figures in section 10.2. These include, table 10.1 and figures 10.3, 10.4 and 10.5. Evaluate whether higher GDP per capita is good or bad for society.

Chapter 11 
Questions

1. Identify the main components of total expenditure?

2. Explain why the 45o line represents the equilibrium in a Keynesian cross diagram.

3. What is an autonomous expenditure? Use a suitable diagram to illustrate the effect on the economy of an increase in autonomous expenditures.

4. Explain how the consumption function links consumer spending and current income. Do you think this is a reasonable explanation of consumer spending?

5. What is the fiscal multiplier? What determines the size of the multiplier? How does the multiplier differ between closed and open economies?

6. During the last 5 years what are the key trends in the government deficit for your own economy?

7. Explain how you would assess the size of the government deficit to determine whether the government was using fiscal policy to expand or contract the economy.
8. Explain what is meant by the term balanced budget multiplier.
9. Consider the four key components of aggregate expenditure, consumption, investment government spending and net exports. Is your economy dominated by domestic private spending, domestic public spending, or external demand?
10. What problems are associated with the implementation of fiscal policy?

11. Recall chapters 9 and 10. Which key macroeconomic variable is missing from the Keynesian cross across approach? Is this a major drawback of the Keynesian cross approach?
12. In a closed economy with no government sector consumption, C = 20 + 0.8Y, investment I = 40. What is the equilibrium level of income Y?

13. When examining fiscal policy, should business be more interested in taxation policy or government spending?

14. An economy requires a fiscal stimulus. How effective will this stimulus be if the economy has a high marginal propensity to import?
15. The marginal propensity to save in China is extremely high, in excess of 30%. Google and find out why?  
Exercises

1. True or false?

a)
In equilibrium planned expenditure will equal planned output.

b)
The fiscal multiplier is equal to 1/MPC.

c)
The following are autonomous expenditures, investment, government spending and net exports.

d)
Credit offered by banks is backed by cash deposits.

e)
Keynesians believe that inflation is a monetary problem.

f) If aggregate supply is perfectly inelastic a reduction in interest rates will lead to higher inflation.

2. Table 11.1 shows some data on consumption and income (output) Planned investment is autonomous, and occurs at the rate of $60 billion per period.

a)
Calculate savings and aggregate demand at each level of income.  
b)
For each level of output, work out the unplanned change in inventory holdings and the rate of actual investment. 
c)
If, in a particular period, income turned out to be $100 billion, how would you expect producers to react?  
d)
If, in a particular period, income turned out to be $350 billion, how would you expect producers to react?  
e)
What is the equilibrium level of income?
f)
What is the marginal propensity to consume? 

g)
If investment increased by $15 billion, what would be the change in equilibrium income?  
h)
Using the data of exercise 2, use graph paper to plot the consumption function and aggregate demand schedule.
i)  Add on the 45° line and confirm that equilibrium occurs at the same point suggested by your answer to 2(e) above.
j) Show the effect on equilibrium of an increase in investment of $15 billion.
Table 11.1 Income and consumption 
When Investment = $60 billion per period

	Income
	Planned
	Planned
	Savings
	Aggregate
	Unplanned
	Actual

	(output)
	consumption
	investment
	
	demand
	inventory
	investment

	
	
	
	
	
	change
	

	50
	35
	
	
	
	
	

	100
	70
	
	
	
	
	

	150
	105
	
	
	
	
	

	200
	140
	
	
	
	
	

	250
	175
	
	
	
	
	

	300
	210
	
	
	
	
	

	350
	245
	
	
	
	
	

	400
	280
	
	
	
	
	


When Investment is $75 billion  per period.
	Income
	Planned
	Planned
	Savings
	Aggregate
	Unplanned
	Actual

	(output)
	consumption
	investment
	
	demand
	inventory
	investment

	
	
	
	
	
	change
	

	50
	35
	
	
	
	
	

	100
	70
	
	
	
	
	

	150
	105
	
	
	
	
	

	200
	140
	
	
	
	
	

	250
	175
	
	
	
	
	

	300
	210
	
	
	
	
	

	350
	245
	
	
	
	
	

	400
	280
	
	
	
	
	


3. a)
Using a Keynesian cross diagram illustrate how an increase in exports would alter the equilibrium output for an economy. What evidence is there that your economy is currently benefiting from an export boom?
b) What evidence is there that at present consumption and investment expenditure are rising in your economy? 
d) Explain the variety of ways through which an increase in interest rates by the central bank would impact your economy.
Chapter 12

Questions

1. Identify and explain the main features of money.
2. What are the main economic benefits to be gained from (a well run) banking system?
3. Identify the important risks that banking regulation seeks to manage.
4. Are banks regulated by liquidity or capital adequacy? Is this a problem?
5. Identify and explain the main motives for holding money.
6. If incomes increase in an economy, how would this change the demand for real money balances?
7. Using a broad definition, what are the main components of the money supply?
8. What is the money multiplier and what factors determine the size of this multiplier?
9. The central bank cuts interest rates. How will this change in interest rate alter individuals’ demand for cash?
10. What is quantitative easing and how do open market operations enable a policy of quantitative easy to be implemented?
11. Explain why a consideration of net present values maybe a useful aid for managers making investment expenditure decisions.
12. Identify the key stages of the monetary transmission mechanism and what factors may prevent it from working?
13. Why might central bank independence and inflation targeting go together?
14. Why is central bank control of interest rates a control on over-exuberant fiscal policy? Is such a situation beneficial for business?

15. Do you consider income or wealth to determine the level of consumption?
Exercises

1. Which of the following would lead to an increase in the transactions demand for money?

(a)
An increase in prices.

(b)
An increase in real GDP.

(c)
A period of greater economic uncertainty.

(d)  A rise in interest rates.
2. A retail bank has a policy of holding cash reserves equal to 10% of deposits. 

(a)
If a customer deposits £1000, how much lending can the bank create?   £9 000  

How would this lending change if cash reserves were less than 10%.
(b) How might a recession or a banking crisis alter a bank’s willingness to hold reserves?
3. Consider box 12.2

a)
“The money markets are the plumbing of the economic system”. Explain.
b)
Use a demand and supply diagram to illustrate the rise in the inter-bank interest rate.
a) How is the interbank market functioning today? What policies have helped to improve the inter-bank market?
Chapter 13

Questions

1. Explain why when unemployment increases, inflation may decrease. Use a suitable diagram to illustrate this relationship.
2. Use numerical examples to explain the difference between nominal and real wages. How have nominal and real wages developed in your economy over the last 5 years?
3. If real wages are held constant, what is the relationship between unemployment and inflation in the long-run?
4. If real wages are constant in the long-run is it still possible to observe a negative relationship between inflation and unemployment?
5. The central bank has an inflation target. Inflation rises above the target. What will happen next to interest rates and aggregate demand?
6. Explain why aggregate supply is inelastic in the long-run and elastic in the short-run.
7. The central bank follows an inflation target and the economy benefits from an improvement in productivity. What will happen to interest rates?
8. Can a central bank with an inflation target fight cost-push inflation?
 9. Using a suitable diagram illustrate why central banks are keen to avoid the potential black hole of a deflationary spiral.
10. What is the Taylor rule? How might business use the Taylor rule to forecast future interest rates?
11. Assume that you are a New Classical economist. What are your recommendations for monetary policy? How do these differ from an extreme Keynesian? Are these two views relevant to modern economies?
12. Use a diagram to illustrate how a monetary response to a loss of consumer confidence stabilises inflation and GDP.
13. If nominal wages increase faster than the rate of inflation, under what circumstances can employment remain constant?
14. What do you consider to be the key benefits of inflation targeting?
15. Access data from your national statistical office on the rate of unemployment and the inflation rate. Plot the data, using a package such as Excel and establish whether you can see a short run Phillips curve relationship.
Exercises

1. Which of the following has caused the move from SPC1 to SPC2 in figure 13.16?

a) A rise in the full employment rate.

b) An increase in nominal wages.

c) An increased expectation of higher unemployment.

d) An increased expectation of higher inflation.

Figure 13.16
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2. This exercise examines monetary and fiscal policy, using the MDS and the aggregate supply schedule. Figure 13-17 shows two macroeconomic demand schedules (MDSa and MDSb) and the aggregate supply schedule (AS). First, we consider the effects of monetary policy in the classicalmodel – specifically, an increase in nominal money supply.

Figure 13-17 Macroeconomic equilibrium
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(a) Identify the ‘before’ and ‘after’ MDS.
(b) What was the original equilibrium price and output?
(c) What is equilibrium price and output after the policy is implemented?
Next, consider fiscal policy – again in the classical model. Suppose there is a reduction in government expenditure.

(d) Identify the ‘before’ and ‘after’ MDS.
(e) What was the original equilibrium price and output?
 (f)
What is the equilibrium price and output after the policy is implemented? The Keynesian model is characterized by sluggish adjustment. Consider the period after the policy but before adjustment begins.  
(g)
Identify price and output. 
(h) The MDS represents points at which goods and money markets are in equilibrium. In the position you have identified in (g), adjustment has still to take place – so in what sense is the goods market in ‘equilibrium’?
3. Consider box 13.6

a) Why is an understanding of inflationary expectations important for the economy and business?

b) How are inflationary expectations likely to differ between students, households with young children and the retired?
c) Will higher inflationary expectations always feed into future higher inflation?
Chapter 14

Questions

1. Identify and explain the main sources of economic growth? What are the main sources of growth in your economy?

2. Economic growth through a higher utilization of current economic resources comes with what problems, or opportunity costs?

3. Which are equivalent, the production possibility frontier and aggregate demand, or the production possibility frontier and aggregate supply?

4. Explain why GDP per hour worked is a useful measure of productivity.

5. What distinguishes the UK from France and the US in terms of R&D funding and  the provision of R&D activities?

6. The Solow model of growth predicts long-run steady state growth rates. What justification can be provided for this prediction?
7. Explain the convergence hypothesis. Does the convergence hypothesis hold in reality?

8. What does the endogenous growth model assume about returns to scale? Is this assumption reasonable?

9.  How do the Solow and endogenous models of growth differ in their prescriptions for the role of government in economic growth?

10. What are supply side policies? Provide examples of current supply side policies and assess how you would measure the success of such policies on promoting economic growth.

11. Is R&D important for economic growth, or is the willingness of consumers to be innovative in their consumption that is important for economic growth?

12. Consider whether there is a simple link between more R&D and higher economic growth.

13. Does neoclassical growth theory provide an adequate understanding of economic growth? Is endogenous growth theory any better than the neoclassical approach?

14. Does it matter if growth occurs through increased utilization of resources or higher productivity of resources?
15. What are the key benefits associated with privatization and private finance initiatives.

Exercises

1. True or false?

a) 
An annual growth rate of 2 per cent p.a. leads to a sevenfold increase in real output in less than a century.

b) 
Sustained growth where r is the rate of growth and n is the number of years cannot occur if production relies on a factor whose supply is largely fixed.

c) 
In the neoclassical growth theory, output, capital and labour all grow at the same rate.

d) 
Higher savings enables a higher long-run rate of growth.

e) 
Given the convergence hypothesis, we can expect all poor countries to catch up with the richer countries.

f)  Growth may be stimulated by capital externalities: that is, higher capital in one firm increases capital productivity in other firms.

2. Which of the following policy suggestions are appropriate for improving economic growth in an economy?

a) 
The encouragement of R&D.

b) 
A reduction in marginal tax rates to increase labour supply.

c) 
Investment grants.

d) 
The establishment of training and education schemes to improve human capital.

e) 
An expansion of aggregate demand to increase the level of employment.

f)  The encouragement of dissemination of new knowledge and techniques.

3. Refer to Box 14.5 when considering the following questions:

a) What is the difference between product innovation and consumer innovation?

b) For a modern economy to grow, which consumers need to be innovative, retail or wholesale?

c) For an economy to prosper the supply and demand of innovation have to be in balance. Discuss.

Chapter 15

Questions

1. What are fixed and floating exchange rate systems?
2. Use a diagram to illustrate how a fixed exchange rate can be maintained when the foreign exchange market price is moving above the fix; and also below the fixed priced.
 3. What is a devaluation; and why might a speculative attack foretell a devaluation?
4. The price of computers in countries A and B are identical in year one. Throughout year two  inflation is higher in country B. What do expect to happen to the exchange rate between countries A and B throughout year 2?
5. What is the real exchange rate and why is it better than the nominal exchange rate at measuring international competitiveness?

6. Explain the concept of perfect capital mobility.
7. How does perfect capital mobility limit monetary policy under a fixed exchange rate regime?

8. What is an optimal currency zone? Do you consider the EU to be an optimal currency zone?

9. Identify and explain the main accounts within the balance of payments.

10. If a country is running a trade deficit with the rest of the world, which account is in deficit?
11. Assess whether it is a problem to run a trade deficit or a trade surplus.

12. Explain how a company can manage the financial risk associated with exchange rate volatility.

13. A country has a current account surplus of £6 billion, but a financial account deficit of £4 billion. (a) Is the exchange rate system fixed or floating? (b) Is its balance of payments in deficit or surplus? (c) Are its foreign exchange reserves rising or falling? (d) Is the central bank buying or selling domestic currency? Explain.

14. Under fixed and floating exchange rates, which type of policy is most effective, fiscal or monetary? Why does the eurozone have one interest rate set by the European Central Bank?

15. Should the UK be a member of the euro?

Exercises

1. True or false?

a)
The US dollar is a floating currency.

b)
The Chinese Yuan is a managed float.

c)
A rise in the real exchange rate reduces the competitiveness of the domestic economy.

d)
After converting into euros the price of Chanel perfume in Singapore is the same as in Schiphol airport; this is an example of purchasing power parity.

e)
If the current account is in surplus and the balance of payments is not zero, then a floating exchange rate regime is in existence.

f) Monetary policy is more effective under a floating exchange rate.

2. Figure 15.10 shows the position in the foreign exchange market: DD is the demand schedule for sterling and SS the supply schedule. Assume a two-country world (UK and the eurozone):
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Figure 15.10 The foreign exchange market 

a) Explain briefly how the two schedules arise.
b) Identify the exchange rate that would prevail under a clean float. What would be the state of the overall balance of payments at this exchange rate?
c) Suppose the exchange rate were set at OA under a fixed exchange rate regime. What intervention would be required by the central bank? What would be the state of the balance of payments?
d) Suppose the exchange rate was set at OC. Identify the situation of the balance of payments and the necessary central bank intervention.
e) If the authorities wished to maintain the exchange rate at OC in the long run, what sort of measures would be required?
3. Refer to Box 15.4 when considering the following questions:

a)
What is hedging and how might firms benefit from hedging?

b) Explain what is meant by “over-hedging”.
c) If Mattell buys in Chinese Yuan and sells in US dollars, what currency risks has it faced recently?
Chapter 16

Questions

1. Identify the various factors that have promoted the globalization of business?

2. How does comparative advantage explain international trade?
3. If the terms of trade improve for a country, then how have the price of exports changed relative to the price of imports?
4. Economies of scale and product differentiation are important for explaining what feature of international trade?
5. Identify the main types of protectionist policies.
6. If international trade has benefits for the global economy, explain why some countries still find advantages in protectionist policies.

7. What is the World Trade Organization and how important is this body for international trade?
8. What is foreign direct investment and what types of companies undertake foreign direct investment?
9. What are the key benefits for business and consumers from membership of trade blocs such as the EU?
10. Evaluate whether the EU should remove the common agricultural policy?
11. What problems do global businesses face when exploiting international business opportunities?

12. Using a diagram to explain the impact of a tariff and a quota on the domestic price of a good or service.
13. Is cheap labour a source of sustainable comparative advantage?

14. Is globalization a threat, or an opportunity for business?

15. What problems might a firm face when managing global operations?

Exercises

1. True or false?

a)
Comparative advantage reflects international differences in the opportunity costs of producing different goods.  
b)
The need to protect infant industries is a powerful argument in favour of protectionist measures.

c)
The imposition of a tariff stimulates domestic demand

d)
The purchase of a share in Microsoft by someone who is not a citizen of the US is an example of foreign direct investment.

e)
Comparative advantage could stem from an abundance of factor endowments.

f) The increase in world merchandise trade has not been entirely global.

2. This exercise examines the gains from trade in a two-country, two-good model. To simplify matters for the time being, we assume that the two countries share a common currency; this allows us to ignore the exchange rate. The two countries are called Anywaria and Someland; the two goods are bicycles and boots. The unit labour requirements of the two goods in each country are shown in Table 16.10; we assume constant returns to scale.

a)
Which of the countries has an absolute advantage in the production of the two commodities?  
b)
Calculate the opportunity cost of bicycles in terms of boots and of boots in terms of bicycles for each of the countries.  
e) Which country has a comparative advantage in the production of bicycles?
Table 16.10 Production techniques
	
	Unit labour requirements 
(hours per unit output)
	

	
	Anywaria
	Someland

	Bicycles
	60
	120

	Boots
	30
	 40


Suppose there is no trade. Each of the two economies has 300 workers who work 40 hours per week. Initially, each country devotes half of its resources to producing each of the two commodities.

d)
Complete Table 16.11:

Table 16.11 Production of bicycles and boots, no trade case

	
	Anywaria
	Someland
	‘World’ output

	Bicycles
	
	
	

	Boots
	
	
	


Trade now takes place under the following conditions: the country with a comparative advantage in boot production produces only boots. The other country produces sufficient bicycles to maintain the world ‘no-trade’ output, devoting the remaining resources to boot production.

e)
Complete Table 16.12 and comment on the gains from trade:

Table 16.12 Production of bicycles and boots
	
	Anywaria
	Someland
	‘World’ output

	Bicycles
	
	
	

	Boots
	
	
	


f) On a single diagram, plot the production possibility frontier for each country. What aspect of your diagram is indicative of potential gains from trade?

3. Refer to Box 16.5 when considering the following questions:

a)
Identify the competitive strengths and weaknesses of India as a centre for off shore business services.
b) A common complaint is that ‘India is stealing all our jobs’. Is this a real business and economic problem?
.
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